MacBurgking have a special offer on meals.

A meal with fries is offered at a promotional price.

Extra fries are available for a small amount extra.

If fries are not wanted with the meal the same amount added on for extra fries will be taken off the meal price. 

ORDER 1

3 meals with 2 extra fries cost £10.55

ORDER 2

4 meals (2 without fries) cost
£10.38

A meal with fries costs m pence. 
Fries cost f  pence. 

Write two equations using m and f for the orders above (1 equation for each order).

Solve the equations to find 

the cost of a meal inc fries (m)

the cost of extra fries (which is the same as the amount taken off if no fries in the meal).
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    £10.55









£10.38

3m + 2f = 1055

4m – 2f = 1038







£14.97


£13.95

4m – 1f = 1497

3m + 2f = 1395


£10.97




£6.99


4m – 1f = 1097

3m – 2f = 699



£8.49





£7.50


3m – 2f = 948

3m – 3f = 750





£6.99




£8.99


3m – 2f = 699

4m – 3f = 899
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